F6 8 9EARKR—YIRE LHER
TRk26F4H828H
MITTBGEABRRR—ViRE+E 42—

AR PR B IR D 44 TR
68 9 AR—VIRE U

A TR — 2 IR B B 0D 5% 57 HA R
Ek2644H19H (1) ~FAFE4H26H (1)

faER G & I L7 B S
V2 644H26H (4)

AR HA R
ER26F4H30H (k) ~FER274F4HA30H OR)

AR—=VIRE CORERKILOEE e

*BIG
BE R A K B
No. ﬁmé [F—2F—2] AR (7D =1 F—2] < LR
BAfE H
O | 4/26 LA Vo 3 %t 2 ERE 1
® 4/26 WEF - ~U /A 0 xf 1 F CH A 2
® 4/26 1HKE RV R 1 %t 0 AR 1
@ 4/26 LRI T A 2 %t 3 WA =il 2
® 4/26 A% e 2 % 2 Ly Y KK 0
® 4/26 BT LT 4 A 1 %t 2 TILE L w7 AHE 2
@ 4/26 JIF 7 v 2—1 2 Xt 1 VINZAVN 1
® 4/26 KETNVT 4 —T % 0 % 2 7y 74— LV 2
©) 4/26 A YN 0 %t 3 BE7 v 7 —X 2
) 4/26 7 77—/ Wl 2 % 0 2% F— L ALIE 1
@) 4/26 WY = /LT 4 0 % 1 Va b o 2
@) 4/26 AARIIHEF C 1 %t 0 F Cli & 1
® 4/26 X7 Ty AN 0 X 1 EUTT 4 AIE 2
@ 4/26 Wik S C 0 %t 1 KIFFR—V =Ky 2
) < UFEROMF M) 3R —L5F —2 0905 TOBL, 2] XA —LF —L09055 M TORAIS,
0y 1Zzof 3150 - EE) 2H£T.
W ALK SR INE - WIal (BIG) NG 4
(F q=p (F)
1 % 600, 000, 000 1 2,644, 354, 338
2 % 2,007, 468 35 0
3 % 38,718 403 0
4 % 9,810 3,200 0
5 % 1,740 17, 349 0
6 = 570 69, 645 0
B = A5 A Bl (BIG) Mn%4 (H)
e ba%E (M) 1,561, 365, 900 1 % 2,651,035, 296
BEO#K (1) 5,204, 553 2 % 0
BEERE (KO 1,264, 336 3 % 0
4 0
5 % 0
6 % 0




*BIG1000O

B oE R A B B
N | B [5—nF— 4] HaHER [Fo=tr—n] | <HF
BAfE H
©) 4/26 LA v 3 X 2 WL > X 1
© 4/26 FRIEF <~ 1U /A 0 xf 1 F CHT 2
©) 4/26 KT AL 1 %t 0 S HAE 1
@ 4/26 LR T T R 2 % 3 AT B 2
® 4/26 A% )] 2 % 2 AN 0
® 4/26 HWETANT 4 A 1 %t 2 TAE L w7 ABE 2
@ 4/26 JIg 7 v & —1 2 %t 1 VINPAVN 1
4/26 RKETNVT 4 —T % 0 %t 2 Ty 7+ — LHF 2
©) 4/26 VA YN 0 % 3 BE7 Y NI —X 2
4/26 7 77—/ il 2 %t 0 a2 R— UALIR 1
) 4/26 X7y vk 0 Xt 1 EUTT 4 AWE 2
(B) < CHEEOWT (1) IR —AF—L005MTORKL, 2] iIFh—5F—LD0SHTHOAIT,
o) 1IXzoftt (BlE5F - ER) #&7,
WALk Wtk A K YIE] (BIG1000) /N 4>
(F1) q=p (F1)
1 % 18,158, 924 4 0
2 4 120, 256 151 0
3 % 12,036 1,510 0
4 % 1, 340 9,008 0
& = A5 48] (BIG1000) %4 (1)
e baFE (H) 242,119, 000 1 % 0
BEOH (0) 1,210, 595 2 & 0
BB (K0 364, 731 3 % 0
4 % 0
mini BIG
BFoE R & & R
N A B F N HARR Fo=gr—n] |
BAfE H
D 4/26 MrAn 3 % 2 WL > X 1
@ | 4/26 RRIEE -~V /A 0 %t 1 F CH AL 2
® 4/26 HRKE AL A 1 %t 0 NI EAlE 1
@ | 4/26 LRI T A 2 % 3 B 2
® | 4/26 P A% s 2 % 2 Ly KK 0
® 4/26 R LT 4 A 1 %t 2 TAE L w7 ABE 2
@ 4/26 JIg 7 e Z—1 2 %t 1 VI PAUNT 1
4/26 KETNVT 4 —T % 0 %t 2 Uy 74— LHAF 2
©) 4/26 AN 0 %t 3 BE7 L FT7—X 2
(GB) < UREROMF T1) 1353 —2F—20900HTORBL, 2] IF—AF—L09055 M TOAIT,

o) iZzof GlxaT - ER) 2R,



W ALK WA A WAl (mini BIG) I 4
(F) q=p (F)
1 % 890, 166 42 0
2 % 21,048 711 0
3 % 4,160 5,388 0
I S - A E] (mini BIG) IN% 4 (F9)
e &% () 149, 548, 000 1 % 0
BEOE (O) 747,740 A 0
BB (K0 253, 835 3 & 0
toto
B e R A B R
O B N F Ay HAtER (7oeqr—n] | <R
BAfE H
©) 4/26 LA v 3 %Xt 2 WL > X 1
@ | 4/26 FREF <~ VU /A 0 %t 1 F CH#x 2
® 4/26 KT AL A 1 %t 0 _HNEAH 1
@ 4/26 MR T T R 2 %t 3 Wil 2
® 4/26 U4y B LARE 2 %t 2 NN 0
® 4/26 E T LT 4 A 1 %t 2 TIVE Ly 7 AR 2
©) 4/26 JI 7 e % —L 2 %1 FINZAVN A 1
4/26 KETNVT 4 —T % 0 %t 2 Ty 74— LH 2
©) 4/26 AN AV RN 0 xf 3 BT T —X 2
4/26 77— [l 2 % 0 2% F— L ALIE 1
@ 4/26 WY = /LT 4 0 % 1 YabteEH 2
@) 4/26 AARIIHEF C 1 %t 0 F Cli & 1
® 4/26 X777 b 0 X 1 EUTT 4 AIE 2
(JE) < UREROMT M) 38— F—20905 M TORL, 2] ZF—2F—20D9055 M TOAIT,
0y Ixzof B1E5T - EE) 2%£T.
WA AR WE A A KAl (toto) INE 4
(F q=p (F)
1 % 5,967, 108 11 0
2 % 39, 474 356 0
3 % 3,410 4,128 0
B = A5 el (toto) MF 4 (M)
7e kg () 187,537,700 1 % 0
BEOH (0) 1,875, 377 2 % 0
BeEERE (B0 190, 963 3 % 0




‘mini toto A
B e R A B R
N | 28 [H—2F—2] ENARLES (77 =AF—2] SRR
BAfE H
©) 4/26 LA v 3 X 2 WL > X 1
© 4/26 FRIEF <~ 1U /A 0 xf 1 F CHT 2
©) 4/26 1EKT AL A 1 %t 0 _HNEAH 1
@ 4/26 LR T T R 2 % 3 WA =Y 2
® 4/26 SR = 2 xt 2 NN 0
(B < UREOMF M) FFR—2F—20900MTOBL, 12 IR —A5F—209055MTOAT,
o) 1IXZzoftt (BlE5F - ER) #&£7,
WU A A SR VIR E (mini toto ARH) N4
(M q=p (M
1 & 8, 364 1,169
B = &5 i 4 A (mini toto AR MNE 4 (F9)
e b4z (M) 19, 555, 900 1 % | 0
BEOE (0) 195, 559
BEERE (B0 41,766
‘mini toto Bf
B e R A B %
O A I AN HamR (ro=qF7—n] | W
BAfeE H
O | 4/26 ST 4+ VT 4 A 1 %t 2 TIVE Ly 7 AR 2
@ | 4/26 JI 7 e % —1L 2 %1 FINZAVN A 1
® 4/26 KETNVT 4 —T % 0 %t 2 Ty 7+ — LHF 2
@ 4/26 AN A SENIN = 0 xf 3 BE7 v 7 —X 2
® 4/26 7 77—/ Wl 2 %t 0 o R— LFLIER 1
(7E) < URROMT M) 3R —2F—20905 M TOBL, 2] ZF—2F—20D9055 M TOAIT,
0] ZEoM BlEnd - EE) 287,
W A A% ERcVINE: A (mini toto BfH) M4
G q=p (M
1 % 7, 350 1,216
B o= 5 i A E] (mini toto B#L) N4 (F9)
7e B (1) 17,876, 100 1% | 0
BEOH (0) 178, 761
BeEERE (B0 36, 122



*totoGOALS3

BoE R & & %
N [F—2F— 2] g < UAER

Bﬁ'fﬁa NO. [7'7:1:/1)3;‘_‘A] uitlzlﬁ‘ljil:%

Q| BEF -~V /=% 0 0
SAI W e i i
4/96 ® %ﬁi%?7‘//\2 2 2

@ | VAW 3 3

® | Vg verphE 2 2
Y26 T R 5 5

() < UfEHR oM T0) 13905 CoKTF— L0158 T0A] |
(2] 139053 CORKT — DA T2/ |

M) 13903 CORT— DA T4 .
3] 13903 COET — 2 D5 13RI E] 2FRT,

WALk WA A WAl (totoGOAL3) MIE 4>

(M) Q) (M

1 % 78, 330 126 0

2 & 2,930 2,243 0
B = &5 i 4 1A (totoGOAL3) MNE 4 ()
ge 4% (1) 32, 883, 700 1 % 0
BEOL (A) 328, 837 2 s 0

BeEERcE (B0 47,370




